
Xin (?=sigma)

B_KS sig_KS B_Reg sig_Reg Delta/B_KS Delta/sig_KS Delta/sig_KS sig_KS/B_KS

ND0D0Bar 1030580 15571 1030580 15572 0.00% 0.00 (0.0?)

ND+D- 819272 13092 819257 13099 0.00% 0.00 (0.0?)

BrD->Kpi 3.891% 0.077% 3.891% 0.077% 0.00% 0.00 (0.0?) 2.0%

BrD->Kpipi0 14.567% 0.406% 14.567% 0.406% 0.00% 0.00 (0.0?) 2.8%

BrD->Kpipipi 8.298% 0.212% 8.298% 0.212% 0.00% 0.00 (0.0?) 2.5%

BrD->Kpipi 9.145% 0.198% 9.145% 0.198% 0.00% 0.00 (-0.0?) 2.2%

BrD->Kpipipi0 5.982% 0.182% 5.982% 0.182% 0.00% 0.00 (-0.0?) 3.0%

BrD->Kspi 1.525% 0.043% 1.539% 0.044% -0.91% -0.32 (-0.2?) 2.8%

BrD->Kspipi0 6.985% 0.259% 7.048% 0.262% -0.91% -0.25 (-0.2?) 3.7%

BrD->Kspipipi 3.120% 0.105% 3.149% 0.107% -0.92% -0.27 (-0.2?) 3.4%

BrD->KKpi 0.935% 0.029% 0.935% 0.029% 0.00% 0.00 (-0.0?) 3.2%

BrD->Kpipi0 / BrD->Kpi 374.349% 2.181% 374.348% 2.181% 0.00% 0.00 (0.0?) 0.6%

BrD->Kpipipi / BrD->Kpi 213.251% 1.280% 213.251% 1.280% 0.00% 0.00 (0.0?) 0.6%

BrD->Kpipipi0 / BrD->Kpipi 65.416% 0.599% 65.415% 0.599% 0.00% 0.00 (0.0?) 0.9%

BrD->Kspi / BrD->Kpipi 16.675% 0.179% 16.827% 0.179% -0.91% -0.85 (-0.6?) 1.1%

BrD->Kspipi0 / BrD->Kpipi 76.378% 0.715% 77.073% 0.715% -0.91% -0.97 (-0.7?) 0.9%

BrD->Kspipipi / BrD->Kpipi 34.122% 0.391% 34.437% 0.391% -0.92% -0.81 (-0.6?) 1.1%

BrD->KKpi / BrD->Kpipi 10.224% 0.154% 10.224% 0.154% 0.00% 0.00 (0.0?) 1.5%


